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Christian Wiehe
Nationaltidende, 1884

L&A oo 5,0

—N°2—

BB B
p_mam W
B mem
_neE 5
H Ok B
i mom
DuE_ B
NN

5+4

Hermann von Gottschall
Bohemia, 1911
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Juraj Hyros
Smena (Bratislava), 1963
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Vratislav Miltner
Zemedelské noviny, 1978
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Heinrich Eichstadt
Deutsches Wochenschach, 1900
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—N°6 — Frédéric Lazard
7 7 7 7 LEchiquier de Paris, 1946
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Gabor Kunos
Rddié Ujsdg, 1937
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—N°9 — C.E. Chapman
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—N°10 — Nehemijas Volpianskis

’ 7 T Jidise Stime, 1929
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—N°11 — Friedrich Valentin Schulz
Main-Post, 1960
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—N°12 — Aleksey Troitzky

/ / / / Shakhmaty Zjurnal, 1900
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Problems Difficulty (7 Solvers)

ID|Tag|Difficulty | Average [S(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
+ 1000] 0.00 0 0 4 3
#2 858| 0.71 1 0 6 0
#4 8581 0.71 1 0 2 4
4 | #3 742 1.29 1 1 5 0
12] = 714 1.43 2 0 3 2
10| #3 572 2.14 3 0 2 2
11] #4 572 2.14 3 0 1 3
91#2 286 3.57 5 0 0 2
2| #2 142 4.29 6 0 1 0
7| #2 142 4.29 6 0 0 1
8| #2 142 4.29 6 0 0 1
1| #2 0f 5.00 7 0 0 0

| Created by WFCC Solving Tournament Manager |




